SECONDARY SCHOOL EXAMINATION - 2021 (ANNUAL)
Mathematics (MODEL SET)

QI

H el B G = 138

Total number of questions = 138
gien3fal @ fery fAQer — quiies — 100
Full Marks- 100

Instructions for the candidates :-

1. weEmeft gUriva eroe Ieal H STR |
Candidates are required to give their answer in own words as

far as practicable.
2. QI IR BIRR W Y gY &fe o ffdse &< 2 |

Figures in the right hand margin indicate full marks.

3. 39 UT-UF P HYED Ugd & fory 15 e &1 ifaReaa wwa faar ar 2

15 minutes of extra time has been allotted for the candidates to read
the question paper carefully.

4. I8 U U QT US| H T GUe—3f Ud US|
This question paper is divided into two sections: Section-A and
Section-B.

5. U3 ¥ 100 TS U & | FoT=H I fdT 50 WeAl BT IR <A1 3ffard

2 | U9 ¥ 3ff¥d Ul & IR o IR UH 50 ITRI BT HegTdhT ISR G

T ST | U6 B foU 1 3ip HeiRT 2 | 9ET SR Bl SUdT R T



OMR - STR 95 # & T |El I Bl dlel /el dfdd U7 A 93 | fomdt oY

UHR BT @GR /TRl U / &€ /ARG 371G BT IR GRABT § YANT
FRAT AT B, AT YRIeT YR AT BRI |

In section-A there are 100 objective type questions, out of which
any 50 questions are to be answered. First 50 answers will be evalu
-ated by the computer in case more than 50 questions are answered.
Each question carries 1 mark. Darken the circle with blue/black ball
pen against the correct option on OMR sheet provided to you. Do
not use whitener/Liquid/Blade/Nail etc. on OMR sheet, otherwise
the result will be invalid.

GUS—d ¥ 30 g IR UL B | ¥ ¥ =gl 15 UeAl &I IR <1 AR
| Ud% @ ford 2 3 MgiRd & | 399 3ffdRad 39 Wos H 08 e I

wedq fau g €, R 9 5=l 4 Ul &1 SR <91 2 | U B ford 5 3fh
FEiRa 2)

In section-B, there are 30 short answer type questions out of which
15 (fifteen) questions are to be answered. Each question carries 2
marks. Apart from this, there are 08 long answer type questions,
out of which any 4 questions are to be answered. Each question

carries 5 marks.



7. & UBR & Selacie SUBRT BT YANT Yoiaar afsid 2 |

Use of any electronic appliances is strictly prohibited.

wues—3 / SECTION-A
qEfs u% / Objective Type Questions

99 G&IT 1 I 100 db & Idd U9 & A1 IR fddbey oy v &, 598 9 U

T8 2| fHEl 50 UeHl & SR | U §RT g Y W& fdwed w1 OMR sfie
R ffed o | (50 X 1=50)
Questions No. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the

OMR-sheet. (50 X 1=50)

92
(15 P R WY g

46

A. 5 B.

3
C. 5 D.

W |

The simplest form of 191—25 is

46
23
3

C. g D.

2. T uREy R & 99 Siftedy fha uReay W=ar 8 dddl 8 ?

A. B.

A W n |~

A. 1 B. 2

C.3 D. 3d



How many maximum rational numbers can be possible between two
rational numbers ?
A. 1 B. 2

C.3 D. infinite

fr=forRaa & fhaaT S9¥eT TR 919 © ?

7 13
A L B. -2
88 210

15 D 17

" 1600 " 110

Which of the following has terminating decimal expansion ?

7 13
A B. —
88 210
15 17
C. — D. —
1600 110

gguc dy? + by + a @ Bl BT YOHHA BRI —

A. B.

C. - D.

o o ald
ol o e

The product of the zeroes of the polynomial dy? + by + a will be

A2 B. g
C.- (ﬁi D. &
V18 &1 IRFATHROT o 7 —

A3 B. 2
C. V6 D. V18

The rationalising factor of V18 is -



C. V6 D. V18
AT BIST M HE&T & —

A.3 B. 2
C. 1 D.o

The smallest prime number is -

A.3 B. 2

C. 1 D.o

afd a=bq +r, SEl a 3R b gATHS Yoiis B8, a1 —
A.r>b B.r<o0

C.r<b D. 579 ¥ &PIs 7TEl

If a=bqg+r, where a and b are positive integers, then
A.r>b B.r<o0

C.r<b D. None of these

fa=feaRad & o9 IR¥y dw=r & ?

A. 4++3 B. V7
ov5
C. 8 D. 75

Which of the following is a rational number ?

A. 4+3 B. V7

65

C. 8 D. 5



fgemd agus x2 + 12x + 35 & IF® & —

A. ST 9 THG B. S ZRUTcH®

C. TFI SRIeR D. U &-IcHd T THRT FUTHD
The zeroes of the quadratic polynomial x? + 12x + 35 are -

A. both positive B. both negative

C. both equal D. one positive and one negative
frfeaRad § o suRAy dw@r & ?

A. V121 B. V196

C. V27 D. V289

Which of the following is an irrational number ?

A. V121 B. V196

C. V27 D. V289

gug (5y2-25)® LAD & —

A.5,-5 B. 5, -5

C. 5, -V5 C. 5,5

The zeroes of the polynomial (5y? - 25) are -

A.5, -5 B. 5, -5

C.\5, V5 C. 5, V5

U el 9898 & YD & ANT TAT YOHHel HAS: 3 TAT —40 8,
fgemh qgug & —



13.

14.

15.

A. x?-3x-40 B. x2-3x+40

C. x>+ 3x-40 C.x2+3x+40

The sum and product of the zeroes of a quadratic polynomial are 3
and -40 respectively then the quadratic polynomial is -
A. x?-3x-40 B.x%-3x+40

C. x>+ 3x-40 C.x2+3x+40

JTH AR X + 2y = 4 AT 2x + 4y = 8 BT & —

A. Td B B. 1 &4

C. ®Ig &1 81 D. 3[R &

The pair of the equations x + 2y = 4 and 2x + 4y = 8 has
A. one solution B. two solutions

C. no solution D. infinitely many solutions

IS 9gUS X2+ ax - b & YID (GG & Ghd 8l, Al b BT A9 BT —
A 1 B. -1

C.0 D. a?

If zeroes of the polynomial x? + ax - b are reciprocal to each other,
then the value of b will be -

A 1 B. -1

C.0 D. a?

ITEqT BT PV BT & —



16.

17.

18.

A. 60° B. 45°

C. 90° D. 30°

The angle of the semicircle is -

A. 60° B. 45°

C. 90° D. 30°

fgema FaxoT ax? + bx + ¢ = 0, W&l a#0, & IRAdd ql ol © IQ
A.b?-4ac>0 B. b? = 4ac

C.b?-4ac=0 D.b?-4ac<0

The quadratic equation ax? + bx + ¢ = 0 where a=0, has no real

roots, if

A.b?-4ac>0 B. b? = 4ac
C.b%2-4ac=0 D.b%?-4ac<0
H%aawBWWZXZ-xﬁ:O?Eﬂﬁﬁaﬁ(i + é) =
A.6 B. -6

C. ¢ D.-¢

If o and B are the roots of the equation 2x2 - x - 6 = 0, then

(

1
(0
A.6

TR AT —3, 4, 11, 18, ®T 214l I & —



19.

20.

21.

A. 143 B. -143

C. 127 D. 137
The 21stterm of the A. P. : -3, 4, 11, 18 ......... is -
A. 143 B. -143
C. 127 D. 137

fa=feaRad & 9 sH—a1 fgard aHexRor © ?

A x®3-x2=(x-1)3 Bx2-4Vx+14 =0

C.x+i=x2 D.x2+Xlz=

Which of the following is a quadratic equation ?

A x®-x2=(x-1)3 B.x?2-4Vx+14 =0
C.x+l=x2 D.x2+lz=
X X
FHIAR SIGT 80, 76, 72, 68, ... P BF-—AT UG 0 & ?
A. 20 df B. 21 df
C. 22 df D. 23 df
Which term of the A. P. 80, 76, 72, 68, ........ is0?
A. 20" B. 21st
C. 22 D. 23w

I AR AT BT FHI IS 6 — 4n 8, I S9HT ATd—3R a8 —
A. 6 B. 4

C. 4 D. 2



22.

23.

24.

If general term of an A. P. is 6 - 4n, then its common difference will

be -
A. 6 B. 4
C.-4 D.2

fa=ferRad o o9 IHiaR S & 7

A.-2,4,-6,8 ....... B.a, a? a3 a4, .......
311 .3 D.1,3,9, 27, ...
272727 2

A.-2,4,-6,8 ....... B.a, a% a3 a4 .......

c. 31 1 3 D.1,3,9,27, ...
22 2 2

1o fog & fame € -

A. (-1, -1) B. (1, 1)

C. (-1, 0) D. (0, 0)

The co-ordinates of the origin are -

A. (-1, -1) B. (1, 1)
C.(-1,0) D. (0, 0)
afy AABC ~ APQRaon QR - 2 g area(APQR)
BC 3 area (AABC)
4 2
A B. 2
2 3
C. | D. >
If AABC ~APQR and QB = 2 tpen 2ealAPAR)
BC 3 area (AABC)



25.

26.

4 2
A. 9 B. ;
9 3
C. A D. 5
T MG A X BT ATE
60°
) 50°
Q R\g -
A. 110° B. 60°
C. 70° D. 35°
In the given figure, the value fo x is -
P
60°
] 50
Q RN)x 7~
A. 110° B. 60°
C. 70° D. 35°

fa=gatl R(0, 6) dr S(8, 0) &I Ha™ arell Y&rge & #eg—fdg & Frame
g —

A. (0, 0) B. (0, 8)

C. (8, 16) D. (4, 3)

The co-ordinates of the mid-point of the line segment joining the

points R(0, 6) and S(8, 0) are -



27.

28.

29.

30.

A. (0, 0) B. (0, 8)

C. (8, 16) D. (4, 3)
fag3ii (4, 6) 3R (8, 2) & 171 BT g & —

A. 42 5TS B. 6\2 3513
C. 82 5318 D. \2 33T

The distance between the points (4, 6) and (8, 2) is -

A. 442 units B. 642 units

C. 842 units D. V2 units

Sin?60° + co0s?60° =

A 2 B.3

C. 1 D.0

Ify g THHRON BT T AT B, A @Y g —

A. BRI FUT! B. {AR

C. gz yfcresdl D. ufcressal ar Hurddl

If a pair of linear equations is consistent, then the lines will be -
A. always coincident B. parallel

C. always intersecting D. intersecting or coincident
fa=g (s, = ) fosg e # Rerg & ?

A. e B. fe<ia

C. g D. =rqel



31.

32.

33.

In which quadrant does the point (-6, 55 ) lie ?
A. first B. second

C. third D. fourth

APQR % 45T QR &I fd=g S T& 39 YR 911 T & b /PRS = 120°
3R ZQPR = 63° @ Z/PQR =

A. 63° B. 57°

C. 60° D. 67°

In APQR, side QR is extended to a point S such that Z/PRS = 120°
and ZQPR = 63° then Z/PQR =

A. 63° B. 57°

C. 60° D. 67°

I fell B[S & DIvT BT FAfGHTSTD fAuRIa ol &1 FAfgwIiTg a8,

ar Brgst ge —
A. THfgerg B. {HaTg
C. fawHarg D. S

If the bisector of an angle of a triangle bisects the opposite side,
then the triangle will be -

A. isosceles B. equilateral

C. scalene D. right-angled

AABC & DE||BC@er AR- 2 o AL e e
DB 3 EC



34.

35.

A. B.

C. D.

N W W W
W W N

In AABC, DE || BC and %= % then the value of AE will be -
3 2
A. 5 B. 3
3 2
C. 5 D. 5
afe st ABC dem DEF # AB _ BC & 3 wwew 811 o9 —
DE FD
A . ZA=/F B. /B=/E
C.zB=2/D D.AA=/D
If in triangle ABC and DEF, AB_ BC then they will be similar, when
DE FD
A . ZA=/F B. Z/B=/E
C.z.B=2/D D.ZA=2/D

& TS aapfa # PQ, 0 %7 arel g9 @ el X & | It 0Q = 3|0, PQ

P
=4 {¥lo a1 OP =
Q
A. 4 990 B. 6 90
C. 530 D. 7 990

In the given figure PQ is a tangent to a circle with centre at O. If OQ



36.

37.

=3 cm, PQ =4 cm then OP =

Q
A. 4 cm B.6 cm
C.5cm D. 7 cm
x—31eT A g P8, 12) & ¢ & —
A. 8 s&TS B. 12 s&T
C. 20 s&1s D. V208 g&1s

The distance of the point P(8, 12) from the x-axis is -
A. 8 units B. 12 units

C. 20 units D. v208 units

Jd & [l famg o G T8 e @ &R 39 a5 9 9 a1l B &

T BT IO BT & —
A. 450 B. 60°
C. 90° D. 1200

The angle between tangent at a point on a circle and the radius
through the point is -

A. 45° B. 60°



38.

39.

C. 90° D. 120°

& g JreRfa H, TP @ar TQ &1 Wl @i O & dlel 9 W §9 YR ©
f6 «PTQ =50°dr LPOQ =
A. 130° B. 25°

C. 45°

In the given figure TP and TQ are the two tangents to the circle with
centre O if ZPTQ = 50° then ZPOQ =

A. 130° B. 25°

C. 45° D. 50°

/
Q

fau v gHar APQR # /PRQ = 0, PQ = 3 3o 92 PR = 6 9o dr

0=



A. 30° B. 60°

C. 450 D. 75°
P
3 em 6 cm
90° 0
QUL R

In the given right APQR, Z/PRQ=6,PQ=3cm,and PR=6cmthen 6=

A. 300 B. 60°
C. 450 D. 75°
P
3 em 6 cm
90° )
Q—I R
40. IfT tanA = % , T COSA &7 919 & —
3 4
A. 5 B. 5
S S
C. 1 D. 3
If tanA = % . then the value of cosA is -
3 4
A. 5 B. 5
S S
C. 4 D. 3



42.

43.

44.

tan 46°
A. % B.0
C. -1 D. 1

rforRad # fdddr A9 9 31fds © 2

A. tan45° B. sin45°

C. sin30° D. cos90°
Which of the following has the maximum value ?

A. tan45° B. sin45°

C. sin30° D. cos90°

IS TP g &1 IR 88 AHI0 & Al g9 Boam g —

A. 7 30 B. 14 &0

C. 21 &0 D. 28 &0

If the circumference of a circle is 88 cm. then its radius is -
A.7cm B. 14 cm
C.21cm D. 28 cm

Il APQR, R ®R §H&I1 &, d sin (P + Q) &1 919 & —
A0 B. 1

C.—1 D.

W =

If APQR is right angled at R, then the value of sin (P + Q) is -

A.0 B. 1



45.

46.

47.

48.

C.—1 D.

W [—

gfe % = 15° T V3coseca =

V3

A. —= B. 2
2
C.3 D 1
. -3
If % = 159 then v3cosecao =
A B B. 2
2
C.3 D. 1
. '3

gfe r, e r, oAt arel 1 g7l @ &=thell BT AN, r A1 arel g9 @

SIhd b SIIER B, Al —
— 2 2 2
Ar=r +r, B.ro+rz2<r
2 2 =2
Cre+rz2=r D.r,+r<r
If the sum of the areas of two circles with radii r, and r, is equal to

the area of a circle of radius r, then

Ar=r +r, B.r2+r2<r
C.r2+rz=r D.r +r,<r
sin (90°-A) =

A. sinA B. tanA

C. secA D. cosA

TE 15 HI0 bl Il T JealeR IR & WY d ggadl ¢ | IS Al SR
@ T 60° BT HIUT G 7, Al SR B S8 © —



49.

50.

51.

A. 15 Hio B. 7.5 ®lo

C. 540 D. 30 #Ho

A ladder 15 m long just reaches the top of a vertical wall. If the ladder

makes an angle of 60° with the wall, then height of the wall is -

A.15m B.7.5m
C.5m D.30m
Cot1°. Cot 89° &1 A9 & —

A1 B.0

N |—

C.2 D.

The value of Cot 1° . Cot 89° is -

A1 B.

N = O

C.2 D.
r F3<ar arel Mo & Aol gs @1 &Ehd BT § —

A. T2 3 SphTS B. 27tr2 a7 ghTs
C. 3mr? aFf g1 D. 472 o Iy
The total surface area of a sphere with radius r is -
A. Ttr? sq. units B. 21r? sq. units
C. 37r? sq. units D. 47r? sq. units
afE 6, 8, 9, X AAT 13 HT ARA 10 &I, Al X BT A BT —

A. 13 B. 12



52.

53.

C. 15 D. 14
If the mean of 6, 8, 9, xand 13 is 10, then the value of x will be -
A. 13 B. 12

C. 15 D. 14

i 2 B HArs AR g1 S 8l STl 8, A1 ¥y DT A Bl SIUT—

A. 2T B. 4 AT
C.6 1 D. 8 1

If the height and radius of the cone are doubled, the volume of the

cone will be -
A. 2 times B. 4 times
C. 6 times D. 8 times

f=ferRag faazor & forw —

QI —3fRTeT| 05 | 5—10 [ 10—15 | 15—20 |20—25

EISCIRGI 12 17 14 22 11

IgAD T BT =T & —
A. 15 B. 22 C. 20 D. 35

For the following distribution -

Class interval |0—5 [5—10 |10—15 | 15—20 | 20—25

Frequency 12 | 17 14 22 11

The lower limit of the modal class is

A. 15 B. 22 C. 20 D. 35



54.

55.

56.

57.

FrefeRad & & Si—ar sei@ gRT FeiRa T8l fbar S e g 2
A. A1 B. A1

C. 9§ D. 9 ¥ IS 7TEl

Which of the following can not be determined graphically ?

A. mean B. median

C. mode D. none of these

&1 GAl & AT BT AT 1 : 27 H B, Al D! DRI BT AU & —

The volumes of two cubes are in the ratio 1 : 27, then the ratio of
their edges is -

A.1:09 B.9:1

C.1:3 D.3: 1

af tan® = 1 AT O BT A9 BRI —

A. 30° B. 45°

C. 90° D. 60°

If tan6 = 1 then the value of 0 will be -

A. 30° B. 45°

C. 90° D. 60°

X STl qTell FHaTg Yl &1 a59%d § —



58.

59.

60.

A. x? 9T gBbTS B. %}xzaﬁs—cﬁré

C. 2wt .} x i gard
The area of an equilateral triangle with side x is -

A. X2 sQ. units B. ¥y sg. units
C. A3 X? Q. units D. %‘% X $q. units

52 TR & U<l &I U TSS! Bl A<S! TRE hedr SHH I AT I b Ul

BTl ST 2 | $9® =1 319 Y UTfidhdr & —

1 2
A. %6 B. 3
c. 2 D. 1
39 13

A card is drawn at random from a well-shuffled deck of 52 playing

cards. The probability of getting a queen is -

A B. 329
C. 359 D. 113
afg P(E) = 0.08 @ P(E') SRR & —

A. 0.92 B. 0.02
C. 0.08 D. 0.52
If P(E) = 0.08 then P(E') is equal to

A. 0.92 B. 0.02
C. 0.08 D. 0.52

1 + tan’0
1 + cot?0



61.

62.

63.

64.

A. tan?0

C. cot?0

05

A.

LI O

C.
U 2x2 + 5x - 12 FH1 U1 & —
A. 1

C.0

B. sec?0

W | N [—

B. 2

D.3

The degree of the polynomial 2x? + 5x - 12 is -

A1

C.0

7 8 —

A. Toh IRAY =T

C. U Uldrd |=r

N7 is -

A. a rational number
C. a natural number
X(x2 + 2x) =

A. x® + 2x?

C.x3

B. 2

D.3

B. U URTY =T
D. 399 & ®Is el

B. an irrational number

D. none of these

B. x2 + 2x

D. 1+ 2x?



65.

66.

67.

68.

28 TAT 72 BT H0 HO & —

A. 28

C. 4

The HCF of 28 and 72 is -

A. 28

C.4

U X2 - X + 1 & TFABT BT IRT BAIT —

A1

C.0

B. 1

D. 2

B. 1

D. 2

B. -1

D. 2

The sum of the zeroes of the polynomial x? - x + 1 will be -

A1
C.0

(\2)? — 2

A A2

C.2

X+y=3TA 3x-2y =4 &I & —

A x=2y=1

C.x=-1,y=4

B. -1

D. 2

D.x=-1,y=-2

Solutions of x + y =3 and 3x - 2y = 4 are -

A x=2y=1

B.x=1,y=2



69.

70.

71.

72.

C.x=-1,y=4 D.x=-1,y=-2
I 98U Y2 -y -6 D IEID a.qAT BB, AT a.p =

A 6 B. -6

C. 1 D. -1

If o and B are zeroes of the polynomial y? -y - 6 then a.p =
A. 6 B. -6

C. 1 D. -1

fgreme AR X2 - 5x - 300 = 0 &1 fafdaas g —

A. 1225 B. 1500

C. -1225 D. 1325

The discriminant of the quadratic equation x2 - 5x - 300 = 0 will be -

A. 1225 B. 1500
C. -1225 D. 1325
FHIAR SIGT V18, V50, V98, V162 ........ P ARRNTR § —
A 2 B. 242
C.3 D. 23
The common difference of the A.P. ¥18, V50, V98, V162 ....... is -
A. 2 B. 242
C.3 D. 2V3
afg y2 + 12:14Fﬁy + 1o
y y



73.

74.

75.

A. 16 B.
C.8 D. +
If y? + lz =14 theny + 1=

y y
A. 16 B.
C.8 D.

12

+4

I IR g BT ndl 9 6N — 2 &I, dI Ugell U BN —

A 2 B. 4

C.-2 D.

10

If the nt" term of an A.P. is 6n - 2 then the first term will be -

A 2 B. 4

C.-2 D.

fag (—6, 10) &1 BIfc T —

A. -6 B.

C.4 D.

The ordinate of the point (-6, 10) is -

A. -6 B.

C.4 D.

sec?A - tan?A =

A0 B.

C. 1 D.

10

10

-16

10

-16



76.

77.

78.

79.

80.

T X, y, zFAR I HE ATy =

Z-X z+Xx
A. > B. >
C.x+z D. Xtz

3
Ifx,y,zare in A.P. theny =

Z-X z+Xx
A. ) B. 5
C.x+z p X2

3
SinA x cosec A =
A. 1 B. 0
C. -1 D 2

fa=gatt A6, 0), B(14, 0) @ C(16, 8) ¥ &1 YT &T &%l & —
A. 32T BT B. 16 o g&1s
C. 44 T sHTS D. 64 T s%Ts

The area of the triangle formed by points A(6, 0), B(14, 0) and C(16, 8)

is -

A. 32sq. units B. 16 sq. units
C. 44 sq. units D. 64 sq. units
cot (90° - 0) =

A. cot6 B. tan6

C. cosecH D. seco

Bryst & 2l & [ (X, Y,), (X, Y,) T (X, Y,) €, @ d=d & (s



g -

XXXy YatYotY, XXX Yty tY,
A (2T YT B. (-5 T )
X, =X,-X -V, -
C( 1772 773 y1 y2y3 ) D.X1+X2+X3;y1+y2+y3

3 3

If the coordinates of the vertices of the triangle are (x., y.), (X,, ¥,)

and (x,, y,) then the coordinates of the centroid will be -

X1+X2+X3 Yi +y2+y3 ) B (X1 +X2+X3 y1+y2+y3 )
> T2 T T3
X=X -X =Y. -
C.(— 32 : ’y1 3;23’3 ) D. (X, + %, + X3, ¥, +Y,+Y,)

sin20° - cos70° =

A 1 B.0

C. 2sin20° D. 2cos70°

(1 - cos?A) =

A. sin?A(1+sin?A) B. sin?A(1-sin?A)
C. cos?A(1 - Cos?A) D. sin?A(1 + cos?A)

afd V2cosO= 1 Al O &T A & —

A. 30° B.45°
C. 60° D. 90°
If v2cos6 = 1 then the value of O is -

A. 30° B.45°
C. 60° D. 90°

b
& tan = p o cos6 s'1n6 _
q cos0 - sinf



85.

86.

87.

88.

A P*4q
p-9q
c. =P
qt+tp

If tan® = (pl then

A P*+a
p-q
q-p
qtp

IfT secA = 275 Tl sinA =

24
25

7
" 25

A.
C

fsecA= 22 then sinA =

7
24
A. 25

7
C. 25
tan?45° - 1 =
A. 1

C. 1

1 + tan’A
sec’A

A. sin’A

C. 1

AABC # fa=g D 3iR E %#e: qoreii AB @1 AC R 39 UaR & b

DE||BC | afe AD _— § 3R AC = 18 I¥fi0 dT AE =

DB
A. 6 990

cosO + sinO
cos0 - sino

E

N =

B.0

D. -1

B. 8 9o



89.

90.

C. 1030 D. 12 950

In A ABC, D and E are points on the sides AB and AC respectively

such that DE || BC. |f% =§ and AC = 18 cm. then AE =
A. 6 cm B. 8 cm
C.10 cm D. 12 cm

TUdh <IN URAT Bobl AT dl Udh og AT 319 Bl UTRIhdT B —
A. 1 B.

C. D.

W =
A= =

An unbiased die is thrown then the probability of getting a prime

number is -
1
A. 1 B. )
1 1
C. 3 D. 4

e Q1 gl & ATl BT UM 4 : 25 &, AT I Houmsi &1 U

ERTT—
A.3:5 B.5:2
C.1:5 D.2:5

If the ratio of the areas of two circles is 4 : 25 then the ratio of their

radii will be -

A.3:5 B.5:2

C.1:5 D.2:5



91.

92.

93.

3 UhR W Wl 5 T ATel & Mgl H W Udh U A2l [+abTell ST &,

N 9P Tl T BT TR 1T U7 81 1 Uii¥iepar & —

1 2
A 5 B.
c. 2 D. 3

13 26

A card is drawn at random from a well shuffled deck of playing

cards, then the probability of getting a red face card is -

A S B. ;3
3 3
C. 3 D. %

e Bl g1 &1 ARy 3R ARIS HHI: 4.6 TAT 48 &, Al 95D =
A5 B. 5.1

C.5.2 D.5.3

If the mean and median of a distribution are respectively 4.6 and
4.8 then mode =

A. 5 B. 5.1

C.5.2 D.5.3

UL 8, 12, 7, 14, 6, 13, 15 T ARIH BT —

A9 B. 10

C. 11 D. 12

The median of the observations 8, 12, 7, 14, 6, 13, 15 will be -

A9 B. 10



94.

95.

96.

C. 11 D. 12

S BT A AT AR AR BT IRAT BT TR a_IGR BIAT & —
A. AT B. ATEIH
C. 9§ D. 79 ¥ IS el

The difference of three times of median and two times of mean is

equal to -
A. mean B. median
C. mode D. none of these

UEh gl & A arell g3 §RT 1 fAFe § a9 31 17 BT § —
A. 30° B. 15°

C. 120 D. 6°

Angle subtended by minute hand of a watch in 1 minute is -
A. 30° B. 15°

C. 12° D. 6°

MR &7 AT r T S8 h aTel T FAGaeiig ol BT ATIA-T BT —
A. %anhws—m‘ B. %anhws—m‘

C. % Tr?h? B gaTS D. 7teh ©91 S%TS

The volume of a right circular cylinder whose radius of the base is r
and height be h is

1 ) ) 2 ) .
A. g 7tr’h cubic units B. g 7tr’h cubic units



97.

98.

99.

C. % 7tr*h? cubic units D. 1tr?h cubic units
|Hag Ayt ABC #, afs ADLBC dr AD? =

A. 3CD? B. 4CD?

C. 5 bC? D. CD?

In an equilateral triangle ABC, if AD_LBC then AD? =
A. 3CD? B. 4CD?

c. 3 bc? D. CD?

3T r aTel STl BT THYC B § —

A. Tr? it gabTs B. T of gord
2
C. 212 it 3T D. 37r? 9t gdhr1g

The curved surface area of a hemisphere with radius r is

B TUr2
2
C. 2mr? D. 37r? sq. units

A. Ttr? sqg. units sg. units

& g i H, O g9 @1 s © a1 LAOC = 130° a1 LOAC =

A. 65° B. 50°

C. 130° D. 574 &g 78l



100.

In the given figure, O is the centre of a circle and Z/AOC = 130°.

Then ZOAC =

O
N
T

B

A. 65° B. 50°

C. 130° D. none of these

14 &1 e g & —

A. XIV B.TH Tt T

C.NMNl ™ 1 D.TH. M1

Tally mark of 14 is -
A. XIV B. THL ML M

C. Nl ™ I D.THL M1



Yvs — 9§/ Section - B

Y STRIF Y / Short Answer Type Questions

Ue HE&T 1 W 30 TP ofg SN & | 79 3 fhwol 15 YAl & IR < | YD

3 & foru 2 3 ReiRd 2 | 15 X 2 = 30

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 ques-

tions. Each question carries 2 marks. 15x2 =230

1.

AN 72 3R 120 HT 0 [0 9T oGS A & o1 & |

Find the L.C.M. of the numbers 72 and 120 by prime factorisation

method.

R1g & 3v2 U@ URAT A= 7 |

Prove that 342 is an irrational number.

2y + 3y + 1 BT y + 2 RT QIRT |

Divide 2y + 3y + 1 by y + 2.

S o TAT BIGUR g(X) = X2-7X + 6D YD & Al o+ P BT A AT BN |
If o and B are the zeroes of the polynomial g(x) = x? - 7x + 6, then

find the value of a + f.

fEeTd 98U X2 - 73 IR S BN 3R IRID! TAT OTHT & ra & HeeT dl

] B Sird Y |

Find the zeroes of the polynomial x? - 7 and verify the relation between

the zeroes and the co-efficients.



10.

11.

12.

K &1 919 =1 579 foly /IR X2 - 8x + k = 0 & Hol ardfde 3R
HA B |

Find the value of K for which the equation x? - 8x + k = 0 has real and
equal roots.

ferema FHIAROT 9X2 - 12X + 4 = 0 BI & BN |

Solve the quadratic equation 9x? - 12x + 4 = 0.

JATAR FST 2, 5, 8, 11 .. P UAHF 20 UGT BT AT ST B |

Find the sum of the first 20 terms of the A. P. 2, 5, 8, 11, ...........

I AAIR 2T BT UST<R S &Y, FTIaT 1131 U< 38 © TT 16df UG 73 T |
Find the common difference of an A.P. whose 11" term is 38 and
16" term is 73.

p & 9 o &, afe fag A(0, 2) =5 (3, p) T (p, 5) | TAGRY ¢ |
Find the value of p, if the point A(0O, 2) is equidistant from point (3, p)
and (p, 5).

fa=gat P(1, -2) 3R Q(-3, 4) & et arell vargs PQ &1 1 : 2 & 31ura
¥ aic: TR B arer Rig & e s @R |

Find the coordinates of the point dividing the line segment PQ joining
P(1, -2) and Q(-3, 4) internally in the ratio 1 : 2.

AR Il ABCD @ fasor AC @=m BD WRER O WR Ufi=ds &_d g, Sial
AB || DC. fig @~ f& ADOC 3R AAOB wH®y £ |

The diagonals AC and BD of a trapezium ABCD intersect each other

at O where AB || DC. show that ADOC and AAOB are similar.



13.

14.

15.

16.

17.

18.

19.

R1g N b BT & RER ST 99 & &5 W 60° BT HIT IR & |
Prove that chord equal to the radius of a circle subtends an angle

of 60° at the centre of the circle.
I tanA =1, @ RIg & & 2sinAcosA = 1.

If tanA = 1, then prove that 2sinAcosA = 1.

2(sin*45° + cos45%) o 7 ST Y|
tan?30° + c0s290°

_ 2(sin?45° + cos?45%)
Find the value of tan230° + cos290°

g o f& sec’A - sec?A = tan?A + tan*A

Prove that sec’A - sec?A = tanA + tan‘A

a1 gl B oAy HAS: 19 FHI0 iR 9 W0 & | 9 g9 @ B A aN
Rl TREY 5 ST 9ol 1 aRRIE B A B iR |

The radii of two circles are 19 cm and 9 cm respectively. Find the
radius of the circle which has circumference equal to the sum of the

circumferences of the two circles.

I sind = 4 a  (4+4sin0) BT H9 ST B |

5 (1 + cosd)
fsind= 2 then find the value of --asind)
5 (1 + cosH)

I cosecd = sec(0 - 20°), ST 40 Yb A PIvT 2, Tl O BT A A1
N |
If cosec46 = sec(0 - 20°), where 40 is an acute angle, find the value

of 0.



20.

21.

22.

23.

24.

25.

Th Il DI 0T qAT ST HHAI: 4 HI0 TAT 14 HI0 &, AT eI BT I
ST BN |
The radius and height of a cylinder are 4m and 14m respectively

then find the volume of the cylinder.

Ueh FHATE Sl &1 oIT 12 FHI0 & 1 $96T &b Sid DY |
The side of an equilateral triangle is 12cm, then find its area.

=T faaRor & |1 Y T BN —

TR —3RTA 0—10 10—20 20—30 30—40
CISCING]) 6 7 16 10
Calculate the mean from the following distribution -
Class-internal | 0—10 10—20 20—30 30—40
Frequency 6 7 16 10

M BT UTed IO &A%l ST DY, Sl 6 HI0 odl, 4 Hio FheT 3R 2 o
ST 2 |
Find the lateral surface area of a cuboid which is 6m long, 4m wide

and 2m high.
SIS JUMHATAT BT Yo 31eR ATGTSIT AT ST B, AT S TR AR B Bl
TR ST N |

A letter of english alphabet is chosen at random then find the

probability that this letter is a vowel.

T GRYT3T 16 AT 28 BT o0 F0 112 & | AT ST H0 0 SId BN |



26.

27.

28.

29.

30.

The L.C.M. of two numbers 16 and 28 is 112. Find their H.C.F.

30 Al & U g W 5 9od WRE © | 59 A8 H A Ud dod A1geadl Hahrell

ST & | fIehTel T 98 & TRIE B9 &I UTidhar S o |

A lot of 30 bulbs contains 5 defective bulbs. One bulb is drawn at
random from the lot. Find the probability that this bulb taken out is a
defective one.

FAHIT st ABC % £C = 90° a1 CDLAB 2, d g & &

AB x CD =BC x CA

In right angled triangle ABC, ZC = 90° and CD_LAB then prove that
AB x CD =BC x CA

TA B — 2x+3y=113R 2x -4y =-24

Sovle ;- 2x+3y=11and 2x-4y=-24

Rrg o o «/ %ﬁ‘ = cosecA + cotA
- COS

Prove that :- \/ % = cosecA + CotA
- COS

52 Tl P 3! UHR | Bl T8 Udh TSs! # A UHh Ul Hdbrerr SIar 2 |

AT T BT IIG2ME YT BRI DT UIRIBdT Sd B |
One card is drawn from a well-shuffled deck of 52 cards. Find the

probability of getting a king of red colour.



<" ST U / Long Answer Type Questions

U9 G731 W 38 WY SR © | 599 W fhsl 4 U b SR | UAD

g & foIu 5 3 HeiRd 2 | 4 X5=20

Question Nos. 31 to 38 are Long Answer Type. Answer any 5 ques-

tions. Each question carries 5 marks. 4x5=20

31.

32.

33.

34.

T fr | g N —
5x-3y-7=0,x+4y-6=0
Solve graphically -

5x-3y-7=0,x+4y-6=0

g & b <1 IS Yl & &bl BT U D! I Jor3l & i

& U & SRIER BT B |
Prove that the ratio of the areas of two similar triangles is equal to

the square of the ratio of their corresponding sides.

Rig & &
sinb + cos0 sin@ -cos® _ 2
sinf - cos®  *  §in® +cos® 1 -2cos’0
Prove that
sin® + cosH . sinf-cos® = 2
sinB - cosO sin® + cos6 1 - 2cos’0

24 FHI0 AT dTel U G deA-IhR axi= H |8 Ul © | S99 60

YFITHR BN Al & BB The 39 UHR Slel MY & I8 g § [ aRE 4

MU Sdfp TAD P MR BT a7 3 Ifo dom Sars 0.04 Ho 2| 91 B



35.

36.

37.

R A g8 gig 91a B |

Some water is there in a right-circular cylindrical container of diameter
24 cm. 60 solid conical pieces of iron having radius of base 3 cm.
and height 0.04 m are completely immersed in water. Find rise

in the level of water.

I & TP 95 A Tdb 20 W0 Sd WA & RRIR W o[ Toh HaR AR B
el d RORER & I+ BI0T HHL: 45° 31X 60° B | AR AR & S dTg o1d
|

From a point on the ground, the angles of elevation of the bottom
and the top of a transmission tower fixed at the top of a 20m high
building are 45° and 60° respectively. Find the height of the transmission

tower.

ST AR & G BT 3TR 45 B | BICT AT BT a7 91 AT &Y 4 1 § |

QI et B S BN |

The difference of squares of two numbers is 45. The square of
smaller number is 4 times the larger number. Find both the numbers.
7.6 HI0 IdTE BT Yeb XWIEUS Wi | 39 YERIUS R U U4 fa=g A =it
TN S 59 YGRITS DI 5 : 8 B U H A< |

Draw a line segment of length 7.6cm. Find a point A on it which

divides it in the ratio 5 : 8.



38.

JDHER 3R AT BT AIRYD 3T BT UM 9 : 7 © AR S4B Tl BT AU
4 :3 8| I g% Afdd ufd 7€M # 5000 =7 ofd 8, AT S ATRIS
3T =TT BN |

The ratio of monthly income of Akbar and Rohan is 9 : 7 and the
ratio of their expenditure is 4 : 3. If each of them manages to save

5000 per month. Find their monthly income.



